TYPICAL BAR JOIST SIZES RIDGE CAP
26GA METAL ROOFING ATTACHED TO
/BAR JOIST UP TO 15' SHALL HAVE A 12" BAR JOIST 2x6 SYP PURLIN W/ #9-12 X 1-1/4" WOODGRIP (5) - 1/2" THRU BOLTS THRU 5/8" HOLE (TYP) STEEL BAR JOIST GENERAL NOTES OVERALL REVISION DATE ©)
BAR JOISTUP TO 40' SHALL HAVE A 18" BAR JOIST T TOP CORD (TYP) TEK SCREWS STARTING &" FROM TEK SCREWS STARTING &" FROM 2. MINIMUM SOIL BEARING SHALL BE ASSUMED AT 2,000 P.S.F. — o
2" X 2' X 3/16" TOP/BOTTOM CHORD 12 1.1/4" X 1-1/4" x 3/16" WEBBING EACH END AND 16" OC EACH END AND 16" OC \%TH . HAELL2 S%NgTTSLIJE%H%\II\I SFHLAALLBEF3 gR%g%EDAwDAES%%RDANCE — o
1-1/2" X 1-1/2" X 3/16" WEBBING 4= ¢ ' ' 7
2x6 #2 1P PURLINS a WELDED TO TOP AND BOTIOM CORD (TYP) 7-22 WIND CODES FOR AN ULTIMATE WIND SPEED OF 130 MPH AND GREATER, | = 3
BAR JOIST UP TO 60' SHALL HAVE A 24" BAR JOIST L = = g o . THESE PLANS INCLUDE DESIGN FOR ALL WIND oC a
2-1/2" X 2-1/2" X 3/16" TOP/BOTTOM CHORD < & 2" x 2" x 3/16" TOP AND SPEEDS UP TO AND INCLUDING 150 MPH ULTIMATE WIND SPEED.
on X I G ~ BOTTOM CORD 4, ALL SIDING AND ROOFING TO MINIMUM OF 26 GAUGE LL]
X 2" X 3/16" WEBBIN | — 6x6 OR 8x8 PT POST (TYP)
) 2" x 2" x 3/16" VERT. END CORD — “ @Pﬁiﬂﬁo gF) ;k&) /El\?LUI\/INS AS SHOWN AND CONSIDERED TO am
, FASTENED TO 6x6 OR 8x8 PT POST W/ : . .
241 T ] (2) 1/2" THRU BOLT, NUT AND WASHER 2x6 #2 SYP WOOD WALL GIRT —— b5 < RIS TS 1 6OA GEE CHANNEL, 100 WAL — 5. FOR ZONE LOCATIONS SEE FBC FIGURE 1609(c). THE .
' J ¥ (3] #9 x 3' EPOXY COATED % COMPONENTS AND CLADDING LOADING CHARTS THIS SHEET.
1 P\ 2"x 2" x 3/16" COLLAR TIE ATTACHED I DECK SCREWS (TYP) ——— VARES OPENING SIZED FOR DOOR ——————————3 >3 6. DESIGN LOADINGS: w
™ W/ (2) 2-1/2" THRU BOLT, WASHER, o (MAX 72) : DEAD LOAD — 4 PSF m
2 ~ ® <
L AND NUT ASSY. PER CONNECTION (TYP) J % @?N%FL%/AEDLQAPDE;TKCBJLESF a
o B N T < L OORGMROR DA e 1514 1.1/ Lone
m | LN 6x6 OR 88 PT POST (IYP) S ODTIOUAL ENGINERRING é E:Eg SCREWS gu LIEU OF STH(E) WOOD SCREWS WHEN
. = NNECTING THE UNITS TO METAL FRAME. FOLLOW THE
UP TO 15" BAR JOIST DETAIL ENGINEERS NOTE: . , N MANUFACTURERS SPECIFICATIONS FOR LOCATING CONNECTORS.
ST/ NOTTO SCALE (2) 1/2" THROUGH BOLTS FOR UP TO 40' WIDE METAL SIDING FASTENED TO : [NATURAL GROUND (TYP) L 9. TYPE OF CONSTRUCTION TYPE II-B @) Z L
- IS ACCEPTABLE. 2x6 GIRT W/ #12-14 x 1-1/2" ‘ = I RSt 0 6 o
26GA METAL ROOFING ATTACHED TO RIDGE CAP WOODGRIP SCREWS 9" O.C. (TYP) | | NOTE: || || 10.  CORNER BRACES REQUIRED ONLY REQUIRED WITH WIND SPEEDS Z o <
2x6 SYP PURLIN W/ #9-12 X 1-1/4" WOODGRIP N N EMBEDDED POST SHALL BE SECURED WITH N N GREATER THAN OR EQUAL TO 150 MPH OR AS CALLED OUT ON PLANS. = G
CONCRETE PER DETAILS |_
SCREW AND RUBBER WASHER 9" O.C. FEILD AND y OLTS "HO | |1 : | | 11.  ALL WELDS ARE CONTINUOUS WELDS DONE AT THE FACTORY. Z %] =
3'-6"-3" ON CENTER EDGE (TYP) //\\ (6) - 172" THRU BOLTS THRU 5/8" HOLE (TYP) N N ] ] 12, ALL STEEL BULDING MATERIALS ARE FLOOD RESISTANT AND WILL NOT = lles° m
\ ) I I (I I .
s 12 A = 4"x 4" x 2" x 12GA PURLIN CONNECTOR L ' L L < ||= =
32,>P<2 C#EQD ;(LP‘"POURCIEINS (B-4=—= SPACED 24" O.C. AND WELDED TO 2' X 6' SYP PT BASE FASTENED TO 6X6 NOTES: —1 O 3
" TOP CORD (TYP) II?)(I??:TKVg/C[SI)EVig ('XFYSI;] EXPOSY COATED /M GABLE END VIEW W/ GARAGE OPENING | OPTIONAL) ' 0O 5 8 .
_ NOT TO SCALE =
2'x 2 x 316" TOP AND _ 2 AL STEEL SHALL BE 50 KS1IN ACCORDANGE WITH CURRENT ALSC MANUAL N g
2x6 RAT RUN FASTENED TO BOTTOM CORD 3 WELDING ELECTRODES NPE E70%X : D5
P#U]RQL_"]\'ACX(%N]N/E?TT&RSEV/R[E%{,S \],\;QK%E’E)%/ T2O)|§ SA'/,LB %ﬁgmGCORD (vP) STEEL BAR JOIST 4. ALL WELDING SHALL BE IN ACCORDANCE WITH CURRENT AWWA REQUIREMENTS 'ﬁ:“ = T W
PER CONNECTION : FASTEN 2X SYP WOOD TO BOTTOM 5. ALL WELDING SHALL BE DONE BY A CERTIFIED WELDER. a = N
12 10" \X'\J\ CHORD PER DETAIL 6. BOLTS SHAT BE ASTM A325 W/ WASHERS AND NUTS (TYP), ° =
? 2% 2'x 3/16" VERT. END CORD 7. WELD STRENGTH 70 KSI MIN. Cu5 =
Wy o ) : 8. ALL POST SHALL BE PRESSURE TREATED GROUND CONTACT.
R B AsHER D [l FASTENEDTO 6x6 OR 868 PTPOST W) 9. PRIMING & PAINTING SHALL BE DONE BY TRUSS MANUFACTURER o0 2
) ' ' = (3) 172" THRU BOLT, NUT AND WASHER 10. MIN. EDGE DISTANCE FOR BOLTS HOLES SHALL BE 3/4" MIN L]
! AND NUT ASSY. PER CONNECTION (TYP) : Al Assy. (vp) Ay e ' =<
e iy : 11. MAX TRUSS SPACING SHALL NOT EXCEED 12' 0" O.C. L]
J o
L ' v 12. THE DESIGNER DISCLAIMS ANY RESPONSIBILITY FOR DAMAGES AS A RESULT OF O w
18" UP TO 40' (MAX) 18 — 6x6 OR 8x8 PT POST (TYP) POOR WORKMANSHIP, OR IMPROPER USE, AND ACCEPTS NO RESPONSIBILITY OR ) m
~ @)
\,/ ~_ EXERCISES NO CONTROL WITH REGARD TO FABRICATION, HANDLING, AND = N
/B UPTO 40 BAR JOIST DETAIL 616 OR 936 P POST Y - A LATON OF TS Z o
— A — L
S_ ] NOT 10 SCALE ENGINEERS NOTE: < COMPONENTS AND CLADDING (exp=B, gcpi—0.00 (Open)) m - L
(2) 1/2" THROUGH BOLTS FOR UP TO 40" WIDE 2x6 #2 SYP WOOD WALL GIRT g “ELocny PRESSURE (PSF LLI ||| encineeren permits, INc. = _
266A METAL ROOF'NG ATTACHED TO RIDGE CAP IS ACCEPTABLE. FASTENED TO WOOD POST W/ 12' MAX & 12' (MAX) % 12' (MAX) % 12' (MAX) - ULTIMATE ROOF WALLS LIJ 311 SOUTH WOODLAND BIVD. E <
2x6 SYP PURLIN W/ #9-12 X 1-1/4" WOODGRIP (3) #9 x 3" EPOXY COATED < ~ ] e = || soren A
" 1 MPH | -12.4 -18.5 -30. +12.7 -14. +14.6 -19.
R e - " ! a~ 140 MPH | -14.3 215 359 | +148 | 166 | +169 | -231 -_— »
SCAEH D SR Wi o1 C. TELD Ao 51 12RO BOLT TR 56 HOLE () PRSCRES 7 S [memzes || g0
T T > - < 165 | 247 | 412 | 4169 | 190 4194 ] -2 FAX: 386-734-8226
2x6 #2 SYP PURLINS 1 x4 x 2 x | 2GA PURLIN CONNECTOR 2" X 6" SYP PT BASE FASTENED TO 6X6 — B ETONAL ENANEEG g OO A TGOS (58 oo 1o oot = || cerrno zeess oY
SPACED 24" O.C 12 N SPACED 24" O.C. AND WELDED TO POST W/ (3) #9 x 3" EXPOSY COATED = PRESSURE (PSF) EMAIL: epi@epieng.net O =
- A= % TOP CORD (TYP) DECK SCREWS (TYP) N e T LUl OZ
2x6 RAT RUN FASTENED TO P\ Z = 2-1/2"x 2-1/2" x 3/16" TOP AND ind I T ) — T T [ TCIOW [ e = E
PURLIN CONNECTOR W/ (2) o \W ~\ BOTTOM CORD 21 2" x 3/16" WEBBING | I Lz | | \ I 140MPH [ -17.6 -24.7 -39.1 +180 [ 198 [ +201 -26.3 O T
#12-14 x 1-1/2" TEK SCREWS 1/3 LENg WELDED TO TOP AND BOTTOM CORD (TYP) o I 3 I I NATURAL GROUND (YP) | | 150 MPH | 202 | -28.4 449 | +207 | 207 | +231 | -30.2 = =
PER CONNECTION - Ii H) . } } } } Sr } } } } } } COMPONENTS AND CLADDING (exp—B, gopi— +7-0.55 (Parfially Enclosed)) < N
/ 12' 10" ,@ 2-1/2"x 2-1/2" x 3/16" VERT. END CORD (. I | | I VELOCTY PRE;%JNRE (PSF) O N
’ { FASTENED TO 8X8 PT POST W/ - - - - - ULIVATE 1 l—‘)O2OF 3 475 AVG OI?MACNALLs 475 AVG PARALLEL |: LIJ
2"x 2" x 3/16" COLLAR TIE ATTACHED 173 £ (3) 1/2" THRU BOLT, NUT AND WASHER NOTE; NOTE: TsowPn | 209 | 270 | 94 | 212 | 228 |21 | 284 -
W/ (2) 2-1/2" THRU BOLT, WASHER, NGTH) ASSY. (TYP) IRIS S T6OA CEE CHANNEL, 00 WAL CONCRER peR DETALLS. e W NOTE TO |NSTA|_|_ER jaovpr | 242 | 214 | a5y [ +oa6 | 264 |26 | 329 SS9 E %
AND NUT ASSY. PER CONNECTION (TYP) 150MPH | 278 | -36.0 525 | +283 | -303 |+327 | -378 = T
1. INSTALLER SHALL ADD LATERAL BRACING DURING THE S - n
(7/3 LE, /m GABLE END ENCI‘OSURE (OPTlONAL] ERECTION PROCESS TO PREVENT BAR JOIST MOVEMENT. = L = - L
e | NG, 51 ) NOTTO SCALE Qx | Q5 || <73
¢ UP TO 60' (MAX) E% = <%
18" —3 ;
m | 18 METAL ROOFING ATTACHED 18GA ANGLE FASTEN H DESCRIPTION FIELD LEADING EDGE % 0 % E L 8
L UP TO 60 BAR JO|ST DETAIL PER PRODUCT APPROVAL TO BAR JOISTW/ #10x 1"\ | STEEL ANGLE TOP AND ZONE 1 7ONE 2 ZONE 3 <§( (2'3 o 2 \ O
S_ '| NOT 7O SCALE MUST USE 848 PT POST FOR SPANS STEEL BAR JOIST (TYP) FLAT HEAD SCREWS 30" : BOTTOM CORDS i— g 8 S
N A0, .. oc MAXIMUM UPLIFT DESIGN PRESSURE [~ 34.3 37.7 52.8 =0 | o= o Z
METAL ROOFING ATTACHED GREATER THAN 40" (TYP) 025 pre DRuLED 2 il o | L= 5
HOLES FOR (4) I K j 4" x 4" x 2" x 12GA PURLIN o o on an on O = =
PER PRODUCT APPROVAL [EK SCREWS INTO ] FASTENER PATTERN 9'-9'-9"-9 6'-3-6"-3"-6 Ll =
PRI L CONNECTOR SPACED 24" O.C. S =
e NI | T AND WELDED 7O TOP CORD (YP) SUPPORT SPACING 48'0.C 48'0.C = 20O
STEEL BAR JOIST (TYP) SRl or 7T b —— |~ WEBBING WELDED TO TOP — — = | L
%6 #2 SyP PURLINS S ANVELDED 7 i T \ \ ! Y AND BOTTOM CORD (TYP) *DESIGN PRESSURE BASED ON A SAFTEY FACTOR OF 2* - |:l § d
SPACED 24" O.C. - L] Lol METAL SIDING FASTEN ~ — 4 @ — Q>
4"x 4" x 2" x 12GA PURLIN CONNECTOR 400 | AR TO FLAT FACE OF 18 GA PROPOSED 1/2" STRUCTURAL SHEATHING — L =
SPACED 24" O.C. AND WELDED TO L B (R N I ANGLE (TYP) PROPOSED 2X6 SYP WALL GIRTS SPACED (OSB, PLYWOOD, ZIP-WALL) FASTENT TO o LU O I
TOP CORD (TYP) 200" X 200" ] 24" ON CENTER FASTEN TO PT POST W/ T WALL GIRTS W/ 8D RING SHANK NAILS 12" an 5] gy
4 ” ” 2x4 #2 SYP FASTENED TO STEEL BAR JOIST (3) #9 X 3" EPOXY COATED DECK SCREWS | ON CENTER FEILD AND 6" ON CENTER EDGE ™ %
******************* W/ (4) #12-14 x 2" TEK SCREWS OR & P
: & | [SBE VEW [FronTviw] D) /b x 5 THROUGHT BOLTS, NUTS ATEACH CONNECTION (TYP) (TYP) —
(2) ' PROPOSED TYVECK OR EQUIVALENT o
| | AND WASHER ASSY (TYP) 6X6 OR 8X8 PT POST ——
2" X 2" X 3/16" STEEL ANGLE | | // so— (TYP) =  MOISTURE BARRIER (TYP) Ui LLI
£ || TOP AND BOTTOM CORD ANGLE CLIPS 6x6 OR 8x8 PT POST FASTENED TO R PROPOSED HARDIE BOARD LAP SIDING . S
g 1-1/4" X 1-1/4" X 3/16" STEEL ANGLE | | 2X4 SYP W (2) 2X2 ANGLE CLIPS | PER POLE MOUNTING DETAIL (VP & FASTEN PER MANUFACTURER SPECS | C a e Qo
% weas * | | W NOT TO SCALE AND #12-14 X 1-1/2" SCREWS , (TYP) ~ 4 U
o8 / | | ﬁ PROPOSED 4" THICK 3000 PSI CONCRETE SLAB J <=
BAR JOIST FASTEN TO 6é6x6 OR 8x8 PT POST W/ PROPOSED 29GA VERTICAL VETAL SHEATHING W/ 6X6 WWM OVER CLEAN COMPACTED TERMITE - ° ° =
(3) 1/2" THRU BOLT, NUT AND WASHER ASSY L MONOSLOPE POLE BARN MUST | | D TS WASRE 5 O FED AND 3165 ALOVG /O GABLE END POST ATTACHMENT / P\ GABLE END FASTENING DETAIL ™EATED SOILAND &-MIL VAPOR BARRIOR (V) - V77 ™" T~ ~NATURAL GROUND (TYP) O t u n | d < m
R (1) 6" LAG BOLTS AND WASHER ASSEMBLY USE 8X8 PT POSTS OR ‘ ‘ PROPOSED 2X6 SYP PURLINS SPACED W NOTTO SCALE W NOT TO SCALE of T = =
(TYP) 6X6 X 3/16" STEEL POSTS 24" O.C. FASTEN TO PURLIN CONNECTER i " ] = = )
S orDTS | | G A O N e ) PROPOSED 12" X 18" THICKENED FOOTER | -
30 VA WIDTH (THREE LE NDITION) | ‘ ‘ METAL ROOFING ATTACHED EAVE WALL ROLL UP DOOR INSTALL NOTES: \(/;VgH [2]g5GREBAR SSONT. (TYP) REBAR SHALL L 4 k O %
NATURAL GROUND o THROUGH PT POST (TYP) o
N S N reesmaenamm T i i " § =3
N ‘ Z/R%PF(’?TSCIZEE AOXADXTO OPENPOLE BARN ‘ STEEL BAR JOIST (TYP) 3; Eg%I.K USPC ng‘ésre F}Erer;g%\[%%%%% \iERTICAL ;IBL[ 2] 6 SYP w/ ROLL UP DOOR e
7/,/ W) /,,> X W,
%Z ‘ TYP POLE BARN CONSTRUCTION | 8X8 PT POST 20' ON CENTER | SUPPLED AR (Q ™\ HARDIE BOARD LAP SIDING o R
R SHOWN MIN POST EMBEDVIENT DEPTH <~ | 0 LOGAZEE PURLINS 307 ON CENTER CARE FLBROL T ooR TR O \ 31/ NorTosca BRACED ROOF buru Diqgitally signed <©
IS 48" MUST BE SECURED W/ CONC | ‘ 26GA PBR METAL SHEATHING ‘ 1) SAME AS ABOVE OR PER DETAIL g FASTENED TO BAR JOIST -4 y g ! I Z
PER ENGINEERS DIRECTION OR DETAILS | ‘ ‘ I\N\ oz B FTE XA ek screws (2) #14 X 1-1/4" TEK SCREWS b M iCh ael J OO
9 bt ] S . § OO
yoryseoons  THIS SHEET et oni | | SRS OEIZ X2 e — ’ .l\ f 120 RO ; - y S E
STEEL B JOST ROLL UP DOOR HEADER ROLL UP DOOR (TYP Rl .. A SR : : <
SIZE VARIES
/~$™\ POLE BARN MONOSLOPE (OPTIONAL) | *\/‘\ = L pere L TN i Wojtuniak %O
\ 7 il 12 W, X3" T S -
S-1 / NOTTO SCALE | | S o MRS STl e I [ |wme|  DECKSCREWS (VD) 1 T —— 1 Date: 2024/03.18 o 5
2 (18GA.) L L
| = | S DBL 2x6 SYP VERT TO HIGHEST 2 nnt| 4
S — l~ GIRTTHAT ALLOWS HEIGHTOF ™| o MIDDLE JOSTS ONLY 3181 34" BOLT,WASHER AND NUT 16:42:36 -04'00 = I
/_\ i%l-l- S%SOR;YA(SJE),X]%/[) (3) 2 |—H *+ 38" X 3/4" BOLT, WASHER AND NUT ONBAR JOIST wi L l:_)
| v N X " —o % — gsl\?'\BA/II;/ng%'T\‘ED TO 2" WELDED TAB D_ (D
w LETLTJC?SSCJ-EO HEADER CONNEC“ON DECK SCREWS (TYP) - < T ACTSTEAL BARCING SHALL BE ADDED TO ALL INTERMEDIATE BAR JOISTS, S e <
Z PURLIN SPACED 48" ON CENTER - é 2. AT LEAST TWO BRACES SHALL BE ADDED TO EACH HALF OF THE BAR X q:; D <
A ~4 6x6 OR 8x8 PT WOOD (TYP) =3 JOISTS, 8 FEET ON CENTER. < 3 =
/6x6 OR 8x8 PT POST (TYP) \7 N | 5 Z 8l < c%
& Q
- ti— [
/ I STEEL BAR JOIST (TYP) l A m /-PURLIN BRACING DETAIL = g 4 L
CERER ) BAR JOIST FASTEN TO 6x6 OR 8x8 PT POST W/ L ¢ VARES 4 - ) LN
e - (~ 1\ SITE SPECIFIC LAYOUT 5)172 HRUBOLL NITAND WASHER ASSY. [ xcingens ore T/ SCHENS 331)| &R
L ) Epe (6)#14 X 1-1/4 TEK SCREWS AT ALL OVERLAPS OR (4) 6" LAG BOLTS AND WASHER ASSEMBLY | |"Exs 55 S0 A8 Up 10 14 = 12" BAR JOIST /1) ROLL DOOR DETAIL (OPTIONAL) 32| O
UIIE=E —|[[[[E=" — (3 s s o S-1 NOTTO SCALE (TYP) LEAN-TO SPANS UP TO 30" = 18" BAR JOIST \ L/ norosca JjfeL| @ Z
— j— | — AS AN ALTERNATIVE MAY BE USED WITH THE - - o >
||== — — — /l PRE-PUNCHED FACTORY HOLES C |_| E NT |N FORMAT'O N : 2 u S > <
A= || =" 01201 s e = EreEoEen ENGINEERSNOTE:  oreen OLE BARN PLAN PRERARED FOR $=i8 )| O
- — AT SE Ay THIS PLAN HAS BEEN ENGINEERED A RISK CATEGORY 1 ;
UE |l wysmoscone. BN ol SR DN B A T e (~$™\ LEAN-TO ATTACHMENT (OPTIONAL) 52
— [ N ' : : \ / VARIES O <
i =1 Jom sD1 Z PURLIN SPLICE JOINT e o1/ Noriosca: . 359 SW RALPH TERRACE, LAKE CITY, FL 32024 : 0=
= . ——#5x12'REBAR v SCALE: NTS n 0 il 2
Tl et T | EACH WAY (TYP) PREDRILLED 5/16" HOLES FASTEN TO WOOD T PROPOSED 40X40X10 OPEN POLE BARN Qo“._‘;!-.......f”bp g N
= L1 13 FOR (4) 1/4"x 1-1/2" LAG PURLINS PER = < - &
=L e =] BOLT AND WASHER ASSY SPECIFICATIONS (1) #9 BAR NORMAL g 4/12 PITCH _gf. Plans %9, P
= ‘ = (VP) #12-14x1-1/2" 246 #2 SYP PURLINS 2x6 #2 SYP PURLINS EVERY 72" (TYP.) S e OFE B WINDOW (IYP) 5 8X8 PT POST 20' ON CENTER 5/ Reviewed Q<
=HI=||||||= #5 GRAVEL (1" ROCK MAX] EGSL%P o x 4% x 4" x 1 9GA LAG BOLT (TYP) ~ SPACED 24" O.C. SPACED 24" O.C. (2) #5 BARS CONT 636 WWM ' N\ 6" 16GA ZEE PURLINS 36" ON CENTER R for Code | ] 8
e oR2e 3 . o PR e METAL ROOFING FASTEN GABLE END TRIM MAINTAIN 3 COVE? -+ 26GA PBR METAL SHEATHING & Noompl UZJ 2
TO STEEL PURLINS PER ] N\ e e 3
BAR JO'ST SlZE POST BASE SlZE PURL'N T M SPEC'F'CAT'ONS :‘% o o\ v vt v o - N - x_:’_v ', o = 2Xé SYP VERT. BETWEEN HORZ. — :g, .".- Ll—' (_5
P N 17 ‘ < v L AT RAECE>. — 2x6 SYP FASTEN W/ (2) #9 x 3" 5 IEH n
"X 48" ¢ B : RS UL EPOXY COATED DECK SCREWS N
UP TO 30' ; —T — @ - . go==g . [ -6 MIL VAPOR BARRIER a
12" MIN. #5 REBAR 2'x 4" x 4" x 12GA | S j R OVER TERMITE TREATED SOIL PER CONNECTION (TYP) % - )
o 48 W) PURLIN CONNECTOR | %L J SEEL BAR JoisT  ASTEN BOXED SOFFIT 26 GA E“T@FI)URAL CROUND L  WINDOW FASTEN % DESIGN STATEMENT: SHEET NO < '&J
1200 " x 48" ) \ — o — — — TRIM TO PBR WALL PANEL W, TO 2x6 SYP w, '
4017600 | ou NN 5 R | ; — SCREW EVERY 12" O.C. 4 | —ox6orexe EVERY 12' OC CONSTRUCTION NOTES; (TvP) i FLORIDA BULDING CODE AND ASCE 7-22.INCLUDING CHAPTER 16 ON =0
BETWEEN TRIM AND TRIM AND WALL PANEL 1. ALL CONCRETE USED FOR BEARING SUPPORT OF THE BUILDING SHALL =Z
WALL SHEATHING MINIMUM ULTIMATE WIND SPEED OF 130 MPH O
WALL PANEL BE SIZED PER THE PREVAILING PLANS. ALL OTHERS AREAS MAY BE 4" IN THICKNESS. N - %0
WALL SHEATHING (3 SECOND GUST) IN WIND EXPOSURE CATEGORY "B", THIS STRUCTURE T @)
/"E\ POST AND FOOTING DETAL ~ /F\ PURLIN BUTT JOINT /G ™\ PURLIN CLIP 7B\ BOXED SOFFIT DETAIL (EAVE) /~ 1"\ BOXED SOFFIT DETAIL (GABLE END) /~J\ CONCRETE FOUNDATION (OPTIONAL) /K™ WINDOW DETAIL (OPTIONAL) FAS BEEN DESIGNED AS R CATEGORY . THE CONPONENTS AND CLADDING =
) ’ -1/ NOTTO SCALE -1/ NOTTO SCALE S-1 / NOTTO SCALE :
\ Q.7 NOTTOSCALE \§-1/ normoscate \ &1/ Norioscate \§1/ NOTTOSCALE NGV NCY NG DATE: 3182024 P Z

371872024 4:41:52 PM M:NF reedom Metals\Site Specific\2024\359 SE Ralph Terrace, Lake Cily, FIN359 Ralph TerracelBar


Steven
Mike PE Seal

aaslan
New Stamp


		2024-03-18T16:42:36-0400
	Michael J Wojtuniak




